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e MA364 Lesson 11 (Unit Step Function, t-Shifting) Example Problems

s Example #1
Plotl = Plot [5+ Sin[t - 2] »UnitStepf{t - 2],
{t, 0, 12}, PlotStyle » {Thick, Dashed}, PlotRange + All}
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2 | Untitled-1

m Example #2
wizi= Plotl = Plot[5 + UnitStep [t - 2] % (-5), {t, 0, 4}, PlotStyle - {Thick, Dashed}]

3 SO

1 1 4 1 1
Plot[lS* [— - {—] *e "ty Cos{3Ixt] - (—] xe " % 8in[3 % t] - UnitStep [t - 2] * (— - {—] e i ED
5 15 5 5

4
Cos[3x (t-2)] - {—] xe 2 L gin[3 % (t-2)]]}, {t, 0, 4}, PlotStyle - Thick}
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